



GOVERNMENT COLLEGE BILASPUR

District - Bilaspur, Himachal Pradesh, India, Pin - 174001

Phone 01978-222417, www.gcbilaspur.in, E-mail: gpgcbilaspur@gmail.com

(NAAC Accredited B Grade College)

Annexure- C-2(2.3.2)

%AGE OF STUDENTS PARTICIPATING IN SPORTS ACTIVITIES

More than 20% students of the college participate in various SPORTS activities viz. inter college SPORTS competitions and championships Intra College Annual athletics meet organized by college. The detailed reports of these activities are available with college office record.

DETAIL OF STUDENTS PARTICIPATED IN HPU INTER COLLEGE SPORTS COMPITITIONS:

Inter College Sports participation during 2024-25			
Sr.No.	Name of Games	No of participated	Rank (Postion)
1	Kabaddi (M)	12	Gold madal
2	Boxing (M)	10	Gold Medal
3	Handball (M)	14	Silver Medal
4	Wrestling (M)	5	Silver Medal
5	Athletics (W)	6	Silver Medal
6	Cross Country	12	Nil
7	Badminton (W)	3	Nil
8	Boxing (W)	5	Nil
9	Cricket (M)	16	Nil
10	Handball (W)	15	Nil
11	Hockey (M)	15	Nil
12	Hockey (W)	12	Nil
13	Kabaddi (W)	11	Nil
14	Basketball (W)	8	Nil
15	Judo (M)	1	Nil
16	Judo (W)	2	Nil
17	Kho-kho (M)	15	Nil
18	Kho-kho (W)	13	Nil
19	Athletics (M)	9	Nil

(Dr. Naveen Bhardwaj)
(Dr. Naveen Bhardwaj)
Sports In charge
Govt. college Bilaspur


Principal
Govt College Bilaspur

Sl. No.	Name of Student	Class/Roll No.	Refreshment paid from 2-8-17 to 2-12-17		No. of Days refreshment served	Total amount of Refreshment served	Signature of refreshment recipient
			Rate of refreshment per day	Rate of refreshment per day			
1	Ayush Mehta	14/1 year /2016/06/01	50/-	50/-	10	500/-	Mehta
2	Adithi Sharma	14/3 year /22/06/2016	50/-	50/-	10	500/-	Adithi
3	Sugya Thakur	14/1 year /23/06/2016	50/-	50/-	10	500/-	Sugya
4	Mukt Bhambhani	14/3 year /23/06/2016	50/-	50/-	10	500/-	Mukt
5	Brunet Thakur	14/1 year /24/06/2016	50/-	50/-	10	500/-	Brunet
6	Priya Thakur	14/1 year /24/06/2016	50/-	50/-	10	500/-	Priya
7	Sohail devi Sangwan	14/3 year /24/06/2016	50/-	50/-	10	500/-	Sohail
8	Nitesh Kumar	14/2 year /23/06/2016	50/-	50/-	10	500/-	Nitesh
9	Suraj Thakur	14/1 year /24/06/2016	50/-	50/-	10	500/-	Suraj
10	Divyansh	14/2 year /22/06/2016	50/-	50/-	10	500/-	Divyansh
11		0.01 year /23/06/2016	50/-	50/-	10	500/-	P
12							
13							
14							
15							
16							
						Total	5000/-

Voucher for Coaching camp Refreshment in respect of GPGC, Bilaspur (H.P.)						
in connection with HPU Inter-College			Held at M.C.M. Sardarpanjali			
from 10-1-2020 to 12-3-2024			Date 31-1-2024			
Name of Student	Class/Roll No.	Rate of refreshment per day	No. of days refreshment served	Total Amount of refreshment served	Signature of Refreshment recipient	
ANSHUL CHANDRA	2214MC011 (B.B.T.Year)	50/-	10/-	500/-	Anshul	
CHETAN	2214MC013 (B.B.T.Year)	50/-	10/-	500/-	Chetan	
PRAVIN THAKUR	24 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Pravind	
SAROJ	24 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Saroj	
KUNAL CHANDRA	24 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Kunal	
GURUDEV GUPTA	21 H.S.C.C (M.T.Year)	50/-	10/-	500/-	GuruDev	
PRAVIN THAKUR	23 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Pravind	
VISHWAK	21 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Vishwak	
PRAVIN	23 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Pravind	
10) <i>Janardhan Singh</i>	23 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Janardhan Singh	
11) <i>Abhimanyu</i>	23 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Abhimanyu	
12) <i>ABHISHEK</i>	23 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Abhishek	
13) <i>SONU SINGH</i>	23 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Sonu Singh	
14) <i>VIVEK KUMAR</i>	23 H.S.C.C (B.A.Year)	50/-	10/-	500/-	Vivek	
15)						
16)						
				Total	500/-	
This is to certify that the Refreshment to the above given in above bill was given on 10-1-2020 for the duration of 10 days of the coaching camp at M.C.M. Sardarpanjali						
Date 31-1-2024 M.C.M. Sardarpanjali Govt. College, Bilaspur						

Sr. No.	Name of Student	Class/Roll No.	Rate of refreshment per day	No. of Days refreshment served	to 11-12-2024		Signature of refreshment recipient
					Total Amount of refreshment served	Date	
1	Robot Thakur	BA190109	₹ 16.98	50	10	505/-	(Robot)
2	Amidh chanday	BA19/ 1 24 00207	50	10	500/-	(Amidh)	
3	Spresh chauhan	BA19/ 24110025	50	10	500/-	(Spresh)	
4	Arshad Chanday	BA19/ 28370011	50	10	500/-	(Arshad)	
5	Kishan Bhatia	BA19/ 28400033	50	10	500/-	(Kishan)	
6	Rishabh Kumar	BA19/ 23 670044	50	10	500/-	(Rishabh)	
7	Rakesh Thakur	BA19/ 23 651058	50	10	500/-	(Rakesh)	
8	Pawan Singh	BA19/ 23 651001	50	10	500/-	(Pawan)	
9	Rohitash Chanday	BA19/ 23 651010	50	10	500/-	(Rohitash)	
10	Pulu Chanday	BA19/ 23 6510053	50	10	500/-	(Pulu)	
11	Divya	BA19/ 24110005	50	10	500/-	(Divya)	
12	Tanushka Bhatia	BA19/ 24 500 022	50	10	500/-	(Tanushka)	
13	Arshad	BA19/ 24 100 077	50	10	500/-	(Arshad)	
14	Arshad	BA19/ 24 100 006	50	10	500/-	(Arshad)	
15	Shradha chauhan	BA19/ 24 000 047	50	10	500/-	(Shradha)	
16							

Voucher for Coaching camp Refreshment in respect of GPGC, Bijnor (H.P.)						
in connection with HPU Inter-College... <u>Bijnor (H.P.)</u> <u>July 2014</u>			held at <u>Bijnor (H.P.)</u> <u>July 2014</u>		from <u>10-07-2014</u> to <u>12-07-2014</u> 2014	
No.	Name of Student	Class Roll No.	Rate of refreshment per day	No. of Days Refreshment served	Total Amount of Refreshment served	Signature of refreshment recipient
1	KELLY KH	9.8.3rd Sem / 20101025	50/-	10	500/-	KELLY KH
2	Sraut	9.8.3rd Sem / 20101027	50/-	10	500/-	Sraut
3	Pushp	9.8.3rd Sem / 20101028	50/-	10	500/-	Pushp
4						
5						
6						
7						
8						
9						
10						
11						
12						
13						
14						
15						
16						
Total					<u>500/-</u>	Signature of Refreshment Recipient
Recommended for payment At Bijnor (H.P.) on <u>14-07-2014</u> For Refreshment of <u>30</u> Students <u>Pushp</u> <u>Kh</u> <u>Chandru</u>						

Voucher for Coaching camp Refreshment in respect of GPGC, Bilaspur (H.P.) in connection with HPU Inter-College						
Refund of Refreshment			Date: 10-11-2024			
No.	Name of Student	Class/Roll No.	Rate of refreshment per day	No. of Days refreshment served	Total amount of Refreshment served	Signature of refreshment recipient
1	DIVYANSHI THAKUR	22 ROC 077/B.A.2nd year	50	10	500/-	DIVYANSHI THAKUR
2	SOHA KHAN	23 B.C.M.012/B.Sc.1st year	50	10	500/-	SOHA KHAN
3	CHINDEE SIKKUMAR	23 B.C.M.010/B.Sc.2nd year	50	10	500/-	CHINDEE SIKKUMAR
4	ABHILASH NEGI	23 B.A.2nd year/23st 10/06	50	10	500/-	ABHILASH NEGI
5	ARTI	JUH T 025/B.UOC.2year	50	10	500/-	ARTI
6						
7						
8						
9						
10						
11						
12						
13						
14						
15						
16						
					Total	2500/-
By is certified that Student Shashank have been served refreshment of ₹ 2500/- for 10 days during week. ₹ 50/- per day recommended for 10 days. Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature:  Date: 10-11-2024 Signature: Date: 10-11-2024 Signature:						

Voucher for Coaching camp Refreshment in respect of GPGC, Bilaspur (H.P.) in connection with HPU Inter-College HOCKEY (CUM) held at G.C. CHAMBA.													
Refreshment paid from 9-11-2023 to 17-11-2024													
Sr. No.	Name of Student	Class/Roll No.	Rate of refreshment per day	No. of days refreshment served	Amount of refreshment served	Signature of refreshment recipient							
1	HIMANSHU THAKUR	B.A.3rd year - 22Ecole	50/-	10	500/-	<i>Gyanendra</i>							
2	YUHARTI RISHI	B.C.A.5th year - 22Ecole	50/-	10	500/-	<i>Yuharti Rishi</i>							
3	NEHAJIT DHAMALA	B.A.3rd year - 31Ecole	50/-	10	500/-	<i>Nehajit Dhamala</i>							
4	HARSH SHARMA	B.A.3rd year - 31Ecole	50/-	10	500/-	<i>Harsh</i>							
5	SARBAL KUMAR	B.Sc. 3rd year - 20Bengal	50/-	10	500/-	<i>Sarbal Kumar</i>							
6	KARTIK CHAMDAL	B.A.3rd year - 21Unipol	50/-	10	500/-	<i>Kartik Chamdal</i>							
7	TRITIK	B.A.3rd year - 21Unipol	50/-	10	500/-	<i>Tritik</i>							
8	PINKY KUMAR	B.A.3rd year - 21Unipol	50/-	10	500/-	<i>Pinky Kumar</i>							
9	ARYAN KUMAR	B.A.3rd year - 21Unipol	50/-	10	500/-	<i>Aryan Kumar</i>							
10	HARSH KUMHAL	B.A.3rd year - 21Unipol	50/-	10	500/-	<i>Harsh Kumhal</i>							
11	SUDHAN SHARMA	B.A.3rd year - 22Ecole	50/-	10	500/-	<i>Sudhan Sharma</i>							
12	SUTAL SHARMA	B.A.3rd year - 22Ecole	50/-	10	500/-	<i>Sutal Sharma</i>							
13	AKSHAY SHARMA	B.A.3rd year - 22Ecole	50/-	10	500/-	<i>Akshay Sharma</i>							
14	SHIVAM RANA	B.A.3rd year - 23Ecole	50/-	10	500/-	<i>Shivam Rana</i>							
15	SHUBHAM THAKUR	B.A.3rd year - 23Ecole	50/-	10	500/-	<i>Shubham Thakur</i>							
16						<i>Shubham Thakur</i>							
Amount paid by the student of Rs.250/- per day for 10 days						<i>Shubham Thakur</i>							
Total						<i>Shubham Thakur</i>							
Total						<i>Shubham Thakur</i>							
It is certified that refreshment is served for 10 days at Rs.250/- per day for 10 students.													
For 10 days @ 50/- each													
Kulbir Pandam Singh													
RISHU RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													
RISHU													

Voucher for Coaching camp Refreshment in respect of PGPC, Bilaspur (H.P.) in connection with IPU Inter-College M.L.L.B.S. Examination, 2024									
Name of Student		Class/Roll No.		Date of Refreshment		No. of Days Refreshment served		Signature of Refreshment recipient	
No.	Rate of refreshment per day	Amount of Refreshment served	Signature of Refreshment recipient						
1	₹ 300/-	₹ 300/-	Neetu						
2	₹ 300/-	₹ 300/-	Parvati						
3	₹ 300/-	₹ 300/-	Parvati						
4	₹ 300/-	₹ 300/-	Parvati						
5	₹ 300/-	₹ 300/-	Parvati						
6	₹ 300/-	₹ 300/-	Parvati						
7	₹ 300/-	₹ 300/-	Parvati						
8	₹ 300/-	₹ 300/-	Parvati						
9	₹ 300/-	₹ 300/-	Parvati						
10	₹ 300/-	₹ 300/-	Parvati						
11	₹ 300/-	₹ 300/-	Parvati						
12	₹ 300/-	₹ 300/-	Parvati						
13	₹ 300/-	₹ 300/-	Parvati						
14	₹ 300/-	₹ 300/-	Parvati						
15	₹ 300/-	₹ 300/-	Parvati						
16	₹ 300/-	₹ 300/-	Parvati						

Voucher for Coaching camp Refreshment in respect of GPGC, Bilaspur (H.P.)							
in connection with HPU Inter-College, <u>Dhankot (H.P.)</u>				held in <u>Dhankot</u> on <u>24/01/2024</u>			
Sr. No.	Name of Student	Class/Roll No.	Rate of refreshment per day	No. of Days Refreshment served		Total Amount of Refreshment served	Signature of refreshment recipient
				1	2		
1	Avneet Kumar	B.A 2nd Year / 22E/1008	₹ 5/-	10	₹ 50/-		Avneet Kumar
2	Sana Kumar	B.A 1st Year / 29/HU/013	₹ 5/-	10	₹ 50/-		Sana Kumar
3	Umar	B.A 2nd Year / 22D/012	₹ 5/-	10	₹ 50/-		Umar
4	Farza	B.A 1st Year / 29/120/033	₹ 5/-	10	₹ 50/-		Farza
5	Aisha Khatu	B.A 2nd Year / 21/150/53	₹ 5/-	10	₹ 50/-		Aisha Khatu
6	Shanti	B.A 2nd Year / 23/HU/002	₹ 5/-	10	₹ 50/-		Shanti
7	Deeksha	B.A 1st Year / 23/HU/040	₹ 5/-	10	₹ 50/-		Deeksha
8	Yugal	B.A 1st Year / 29/HU/065	₹ 5/-	10	₹ 50/-		Yugal
9							
10							
11							
12							
13							
14							
15							
16							

Voucher for Coaching camp Refreshment in respect of GPGC, Bilaspur (H.P.)						
in connection with HPU Inter-College <u>Yoga and Culture</u> from 3-10-2012 to 3-2012			held at <u>C. C. Adarsh</u>		Date: 23-11-2012	
Name of Student	Class/Roll No.	Rate of refreshment per day	No. of Days refreshment served	Total Amount of refreshment served	Signature of refreshment recipient	
1. <u>Rajul Verma</u>	B.A. 1st year /201005231	50/-	10	500/-	<u>Rajul Verma</u>	<u>Verma</u>
2. <u>Yashika Sharma</u>	B.A. 1st year /20100560	50/-	10	500/-	<u>Yashika Sharma</u>	<u>Yashika Sharma</u>
3. <u>Nishant</u>	B.A. 1st year /20100103	50/-	10	500/-	<u>Nishant</u>	<u>Nishant</u>
4. <u>Kajal</u>	B.A. 1st year /20100555	50/-	10	500/-	<u>Kajal</u>	<u>Kajal</u>
5. <u>Uttam Dev</u>	B.A. 1st year /20100130	50/-	10	500/-	<u>Uttam Dev</u>	<u>Uttam Dev</u>
6. <u>Ritika Sharma</u>	B.A. 1st year /20100125	50/-	10	500/-	<u>Ritika Sharma</u>	<u>Ritika Sharma</u>
7. <u>Yashika Devi</u>	B.A. 1st year /20100056	50/-	10	500/-	<u>Yashika Devi</u>	<u>Yashika Devi</u>
8. <u>Sumeet</u>	B.A. 1st year /20100049	50/-	10	500/-	<u>Sumeet</u>	<u>Sumeet</u>
9. <u>Palak Tutekar</u>	B.A. 1st year /20100184	50/-	10	500/-	<u>Palak Tutekar</u>	<u>Palak Tutekar</u>
10. <u>Kritika</u>	B.A. 1st year /20100105	50/-	10	500/-	<u>Kritika</u>	<u>Kritika</u>
11. <u>Archika</u>	B.A. 1st year /20100165	50/-	10	500/-	<u>Archika</u>	<u>Archika</u>
12. <u>Shandita Chourhan</u>	B.A. 1st year /20100119	50/-	10	500/-	<u>Shandita Chourhan</u>	<u>Shandita Chourhan</u>
13. <u>Tanya</u>	B.A. 1st year /20100031	50/-	10	500/-	<u>Tanya</u>	<u>Tanya</u>
14.						
15.						
16. <u>Coaching camp Refreshment given to the students for 10 days.</u>				1000/-		

Detail of participants in Annual Athletics Meet 2024-25

Sl. No.	Name	Student Refinement class	Refinement Roll No.	Sl. No.	Name	Class	Roll No.	Sl. No.
1.	Naveen Kumar	BA III year	23HIN009	26	Dikshant	BA-1st	216E0030	Right
2.	AKshay	PGDCA	24PGDCA020	27	Neelish Sonu	B-1st	216CM071	Right
3.	Lakshmi Devi	BCom I year	24BCOM019	28	Shubham Hitesh	BA 1st year	24BEC0063	Left
4.	Atishay	BA III year	23HOL035	29	Aniket Bhardwaj	BCA 2nd year	24BEC0150	Left
5.	Nitin Kumar	BCom I year	24BEC0047	30	Nidhi Sharma	BCom Final year	24BECM039	Left
6.	Rishabh Thakur	BSC I year	24BSC003	31	Deeksha Parmar	BCom third year	24BECM105	Left
7.	Prayush	BA II year	22BAM015	32	Anchal	BA 1st year	216H0001	Left
8.	Sonuwal Thakur	B.Com I year	22BEC005	33	Shravani	BA 2nd year	24BEC0021	Left
9.	Mohammad Gaffar	PGDCA 2nd year	24PGDCA064	34	Arundhati	MR Engg II year	24MENG010	Left
10.	Abhishek Kumar	BA 3rd	216EC0064	35	Ujjwala	B.Com III year	24BECM107	Left
11.	Rehan Akbar	BA 2nd	23BEC0031	36	Sapna	BCom II year	24BECM050	Left
12.	Ritesh Sagar	BCA 2nd	24BECM003	37	Abhishek	BA I year	24E0006	Left
13.	Ramvijay Pandey	BCA 2nd	24BECM010	38	Tanishka Bala	BA II year	24SECC022	Left
14.	Adarsh Kumar	BA 1st	216H001	39	Rishabh Thakur	BSC 1st year	24BSC003	Left
15.	Lakshmi	B-1st	216E0037	40	Asifatosh Rathan	BSCBT 2nd year	24BSCBT013	Left
16.	Kapil Patel	BTM 3rd	24BTM001	41	Reetesh Kumar	BA 2nd year	24ENG004	Left
17.	Nikita	B Com 1st year	24BECM047	42	Shivam Chaudhary	BSC III year	24BECM009	Left
18.	Atishay Thakur	BA 1st year	24HIN039	43	Yogesh Patel	MA BSc	216H0005	Left
19.	Kartik Joshi	BSCPT I year	24BECM008	44	Nitish	BA 1st	216H0005	Left
20.	Rahul Thakur	BA 2 year	23HIN038	45	Sagar	BA 1st	216H0005	Left
21.	Krish Kumar	BA 1st year	24HIN033	46	Dipesh Sharma	BA 1st	216H0005	Left
22.	Abhishek Chawla	B. A. 2nd year	23HIN011	47	Sakshi Ka	BA 2nd	23BEC006	Left
23.	Ankit Kumar	B.A. Fresh year	24HIN018	48	Ujjwal	BA 2nd	23BEC0039	Left
24.	Ankit Kumar	B.A. Fresh year	24HIN012	49	Shreya	BA 2nd	23BEC0044	Left
	Bhagwati Gurjar	BSC 1st	22BEC025	50	Amit	BA 1st	22HIN071	Left
				51	Manush	BA 2nd	24HIN012	Left
				52	Karma	BA 2nd	24HIN012	Left
				53	Namrata Thakur	BA 1st	24POLO01	Left
				54	Rashmi Ranu	BA 1st	24POLO52	Left
								54

Students Refinement - 2025								
	Class	Roll No.	Name & Event					
1. Hitesh	BA 3rd	24BEC030	High Jump	Bhavin				
2. Banita	BA 1st	24BEC005	High Jump	Banita				
3. Neelakshi	BA 2nd	23HIN033	High Jump/1500m	Neelakshi				
4. Umaria	BA 1st	23HIN012	High Jump	Umaria				
5. Neha Kumar	BA 2nd	24HIN009	High Jump	Neha				
6. Umaria Dahiya	BSC 1st	24BEC018	High Jump	Umaria				
7. Swapnil Kumar	BA 3rd	24HIN024	High Jump	Swapnil				
8. Akash Kumar	BA III	23BCA058	Shot Put	Akash				
9. Aniket Thakur	BAIII 21HIN061		Shot put	Aniket				
10. Rakesh	B.T.M 2nd	24BTM001	Shotput	Rakesh				
11. Ankit	B.T.M 2nd	24BTM006	Shotput	Ankit				
12. Aniket	B.T.M 2nd	24BTM007	Shotput	Aniket				
13. Rahul	Micro 2nd	24HIN007	Shotput	Rahul				
14. Rakesh Thakur	BSC 2nd	400m		Rakesh				
15. Piyush	B-1st	1500m		Piyush				
16. Pankaj	B-1st	1500m		Pankaj				
17. Manish	BA 1st	1500m/1500m		Manish				
18. Atman	BA 2nd		Shot Put	Atman				
19. Aniket	B-1st		High Jump	Aniket				
20. Pelli	B-1st		High Jump	Pelli				
21. Komal	BA 3rd		100m	Komal				
22. Aniket	BA 1st		1500m	Aniket				
23. Nitish	B-1st		1500m	Nitish				
24. Divya	BA 1st		Shot Put	Divya				
25) Neha Kumar	BA 2nd		100 mt	Neha				
26) Banita	BA 1st		100 mt	Banita				
27) Himesh	BA 2nd		100mt	Himesh				
28) Reet	BCA 6th sem		High jump	Reet				

	Name	Class	Roll No.	Name of Event	
29	Sivash	BA 2nd	24HIN0039	300m Race	Right
30	Manoj	BCA 2nd	24BCA003	300m Race	Right
31	Sachit Khattry	BA 2nd	24HIN0026	100m Race	Right
32	Naveen Kumar	BA III year	20HIN001	100m Race	Right
33	Karan Kumar	B-1st	24BEC0023		Right
34	Somrit Saktari	BA I year	24BEC025		Right
35	Amrit Kumar	BA 1st year	24HIN01		Right
36	Manish	BA 1st year	22HIN071		Right

$82 + 5 = 87$

$54 + 28 = 82$

Sl No	name	Student Registration No.	Sign.
1	Anchal	BA 1st year 24640006	Anchal
2	Komal	BA 1st year 22500394	Komal
	Tharunika Datta	BA 1st year 2020022	Tharunika
4.	KRISH KUMAR BORKDAS	BA 1st year 2461003	Krish Kumar
5	TARUN	BA 4th year 3320017	Tarun
6.	Lucky Kumar	BA 1st year 2300016	Lucky
7.	Aashish Sharma	BA 3rd year 22700017	Aashish
8	Aranya Thakur	BA 1st year 2460036	Aranya
9	Tejal Patel	BA 1st year 2460006	Tejal
10.	Sonam Thakur	BA 1st year 21800076	Sonam
11.	Vikas Kumar	BA 3rd year 22800013	Vikas
12	Shivam	BA 4th year 22800061	Shivam
13	Shubham Mukherjee	BA 4th year 22800061	Shubham
14	Abhishek Jhunjhunwala	BA 1st year 2460013	Abhishek Jhunjhunwala
15	Angay Negi	BA ENG 1st year 2262009	Angay Negi
16	Anchal	BA 2nd year 2010050	Anchal
17	Raksha	BA 1st year 2460001	Raksha
18	Shivani	BA 2nd year 2010051	Shivani
19	Nisha	BA 1st year 23400015	Nisha
20	Uttara Banerjee	BA 1st year 22000105	Uttara Banerjee
21	Sakshi	BA 3rd year 22800030	Sakshi
22	Nidhi	BA 3rd year 22800031	Nidhi
23	Priyanka	BA 3rd year 22600107	Priyanka
24.	Aranya Thakur	BA 1st year 22600005	Aranya Thakur
25	Manisha Kumar	BA ENG (Eng) 20100005	Manisha Kumar
26	Amritika	BA ENG (Eng) 20100010	Amritika

Sr. No.	Name	Class	Roll No.	Signature
27	Minali Patel	B.Med.100	23P01060	Minali Patel
28	Komal	"	23H12028	Komal
29	Aishwarya Thakur	"	23P01006	Aishwarya Thakur
30	Nikita Thakur	B.A.3rd year	23H18073	Nikita Thakur
31	Manprey	B.A.3rd year	23S01009	Manprey
32	Kavita	B.A.3rd year	23S01015	Kavita
33	Shikha Bhatija	B.A.2nd year	23E010390	Shikha Bhatija
34	Neeta	B.A.3rd year	23E01025	Neeta
35	Mehdi Kumar	B.A. 2nd year	23H12027	Mehdi Kumar
36	Asmaa Iqbal	B.A 2nd year	23P01056	Asmaa Iqbal
37	Shivani Kumar	B.A.3rd year	23P01002	Shivani Kumar

News Cutting of sports activities

मैराथन में कोमल और विजेता खिलाड़ियों को बिलासपुर कॉलेज प्रशासन लविश रहे अव्वल

(185) ने हार पहनाकर किया सम्मानित

संवाद न्यूज एजेंसी

बिलासपुर। बिलासपुर कॉलेज प्रशासन ने शनिवार को दस्तावेज एवं परिवार कल्याण विभाग की ओर से आयोजित मराठन विजेता खिलाड़ियों का कॉलेज पहुंचने पर स्वागत किया। इस दौरान ने विद्यार्थियों को हार पहनाकर सम्मानित किया।

मैराथन में छात्र वर्ग में कॉलेज की तुलीश वर्ष की कोमल ने पहला, गौरकी ने दूसरा और पलक ने तीसरा स्थान हासिल किया। छात्र वर्ग में लविश ने पहला और अमित कुमार ने चौथा स्थान पाया। कार्यकारी प्राचार्य डॉ. पीएस. कट्टवाल ने विजेताओं को बधाइयां दी। उन्होंने बताया कि युवाओं में प्रचाराई/एड्युकेशन के बारे में जागरूकता बढ़ाने के उद्देश्य से यावं किलोमीटर की जाता स्टर की एराथन का आयोजित हुई था।

इस अवसर पर रेड रिबन कलाकरी संगीतिका प्रो. सोनिया साठीर, प्रो. विमलीत, डॉ. रुजीत कौशल, डॉ. सुरजीत चंद्रल, डॉ. रितु चार्चा, प्रो. नवेंद्र बस्तल, डॉ. विजय, प्रो. अमित, प्रो. जन्मी सहित अन्य मौजूद रहे।



मैराथन प्रतियोगिनी में विजेता खिलाड़ियों को सम्मानित करते बिलासपुर कॉलेज के प्रोफेसर। संवाद

4.8.2024 (अमर उजाला)

1. Navneet Baisal
2. Dr. Hemant Deovi Nakum
Principal
Billesapur College
Billesapur

(185)

इंटर कालेज एनुअल एथलेटिक मीट में बिलासपुर संकेंद

निजी संगठनों-द्वादुपर

इंटर कालेज एनुअल एथलेट मीट में बिलासपुर कालेज ने दूसरा स्थान राजकीय महाविद्यालय बिलासपुर हासिल किया है। जिसमें पालकी की छात्राओं ने दूसरा स्थान हासिल चंद्रल ने लंबी कूद प्रतियोगित में किया है। 15 सदस्यीय टीम का नया विश्वविद्यालय रिकॉर्ड 5.46 प्रतिनिधित्व प्रोफेसर राजीव कुमार मीटर बनाया। जबकि अमन सिंह ने 6.94 मीटर का नया रिकॉर्ड बनाया। व 400 मीटर रिले रेस में छात्राओं ने गोल्ड मेडल अंजीत किया। तीन गोल्ड, तीन सिल्वर, तीन ब्रॉन्ज मेडल के साथ ओवरऑल गर्ल्स सेक्शन ने दूसरा स्थान हासिल किया है। बताते चलें कि राजकीय महाविद्यालय हमीरपुर में 47वीं इंटर कॉलेज में एनुअल एथलीट मीट का आयोजन 13 नवंबर से 15 नवंबर तक किया गया। इसमें राजकीय महाविद्यालय इंटर कॉलेज में एनुअल एथलीट मीट का आयोजन 13 नवंबर से 15 नवंबर तक किया गया। इसमें प्रतिभागियों ने भाग लिया।

द्वितीय दिवाली
19.11.2024

(143)

महिला बॉक्सिंग की पदक विजेता छात्राओं का कालेज में किया स्वागत



बिलासपुर : अंतर महाविद्यालय महिला बॉक्सिंग प्रतियोगिता में स्वर्ण व रजत पदक विजेता बॉक्सरों का स्वागत करते बिलासपुर कालेज के प्राचार्य डा. पी. एस. कटवाल व अन्न। (विश्वाल)

बिलासपुर, 22 नवम्बर (विश्वाल) : राजकीय नायोजी कालेज अपूर्वक्रम काम सुन्दरमाम में संपन्न हुई अंतर महाविद्यालय महिला बॉक्सिंग प्रतियोगिता में बिलासपुर कालेज ने 1. स्वर्ण व 1. रजत पदक जीता है।

बिलासपुर कालेज की नायोजी अंतर परियोगी ने 57 किलोग्राम भार वर्ग में स्वर्ण पदक जीता, जबकि 52 किलोग्राम भार वर्ग में दिव्यांशु कालेज ने रजत पदक जीता। इस प्रतियोगिता में 25 महाविद्यालयों की प्रतिभागी पहलवानों ने भाग लिया। बिलासपुर

कालेज की 5 महिला बॉक्सरों ने टीम प्रबंधक डा. रितु की आगामी में इस प्रतियोगिता में भाग लिया। इन विजेता खिलाड़ियों का बिलासपुर कालेज पहुंचने पर कालेज प्राचार्य डा. पी. एस. कटवाल सहित कालेज प्रशासन ने स्वागत किया।

इस अवसर पर आई.बी.ए. सी. सैल के सचिव डा. विजय कुमार, महाविद्यालय हॉडवालीरों के मंटी के सदस्य डा. प्रेमजीत, प्रो. रंजीत सिंह, प्रो. जगवीर सिंह चंदेल, डा. सुरजीत चंदेल और शीर्षिया सदस्या डा. हमा.दबो ठाकुर भी उपस्थित हैं।

पंजाब बैचल
२३.११.२४

1. Navendra Bansal
2. Dr. Hema Devi
Thakur

Principal
G.P. College
Moga

(163) हैंडबाल स्पर्धा में बिलासपुर की टीम रही उपविजेता

संवाद न्यूज एजेंसी

बिलासपुर। हिमाचल प्रदेश विश्वविद्यालय की ओर से हैंडबाल प्रतियोगिता का आयोजन महाविद्यालय लक्षण सेना महाविद्यालय सुदरनगर में किया गया। इस प्रतियोगिता में राजकीय महाविद्यालय की हैंडबाल टीम उपविजेता रही।

महाविद्यालय पहुंचने पर विजेता टीम का स्वर्ण प्राप्त और कालेज पहुंचने पर विजेता टीम को प्राप्त किया खिलाड़ियों ने माला पहनकर किया।

प्राचार्य डा. पी. एस. कटवाल ने बिलासपुर की स्वर्णीयों को स्वर्णीय करते हुए कहा कि यह महाविद्यालय के लिए बहुत ही बड़ी और गर्व का विषय है। अपूर्वी खिलाड़ी कालेज के विद्यार्थियों के द्वितीय प्रदर्शन के लिए है। सभी विद्यार्थियों को पढ़ाई के साथ-साथ खेलों में भी सक्रिय भागीदारी से भाग लेना चाहिए। इससे शारीरिक और बौद्धिक शमता का विकास होता है।

इस अवसर पर वरिष्ठ आचार्य प्रेमजीत, डा. रणजीत कौशल, डा. सुरेंद्र ठाकुर, प्रो. जगवीर चंदेल, डा. सुरजीत चंदेल, डा. रितु शर्मा, डा. नम्रता पठानिया, प्रो. नवन्दु बंसल



अंतर महाविद्यालय हैंडबाल प्रतियोगिता की उपविजेता टीम महाविद्यालय बिलासपुर के खिलाड़ी व उपरियत अन्य। संवाद

1. Navendra Bansal
2. Dr. Hema Devi
Thakur

Principal
G.P. College
Moga

(165)

बोरिसंग चैपियन बनी बिलासपुर कालेज की टीम का कालेज ने स्वागत

बिलासपुर, 6 दिसंबर (विशाल): हिमाचल प्रदेश विश्वविद्यालय द्वारा दोलतपुर चौक कुना में आयोजित अंतर्राजकीय विश्वविद्यालय पुरुष बोरिसंग प्रतियोगिता में राजकीय महाविद्यालय बिलासपुर की बोरिसंग टीम ने ओवरऑल चैपियन बनने का गोरब हासिल किया। इस प्रतियोगिता में प्रदेश के 30 विभिन्न महाविद्यालयों के 150 मुक्केबाज खिलाड़ियों ने भाग लिया। प्रतियोगिता में राजकीय महाविद्यालय बिलासपुर का बोरिसर आर्यन को सर्वश्रेष्ठ मुक्केबाज ढुना गया।

आर्यन ने 60 किलोग्राम में स्वर्ण पदक हासिल किया। इसके अतिरिक्त 3 अन्य मुक्केबाजों सागर ठाकुर ने 71 किलोग्राम में, ऋषभ देव ने 75 किलोग्राम में और अनिकेत ने 86 किलोग्राम में स्वर्ण पदक छाटका। प्रियंका ने 54 किलोग्राम में कांस्य पदक प्राप्त किया। इस विजेता टीम का महाविद्यालय पहुंचने पर महाविद्यालय प्रशासन ने स्वागत किया।

विजेता टीम सहित टीम इंचार्ज डा. रहल संदल और शारीरिक शिक्षक संजीव कुमार को महाविद्यालय प्राचार्य डा. पी.एस. कटवाल और वरिष्ठ आचार्य द्वारा मारता पहनाकर सम्मानित किया गया। इसके साथ ही महाविद्यालय के भूतपूर्व राष्ट्रीय मुक्केबाज खिलाड़ी बोरिस चौहान को भी महाविद्यालय प्रशासन द्वारा सम्मानित किया गया।

पंजाब प्रेसरी

7.12.2024

1. Navneet Bawali

2. Dr. Hemant Devi Thakur

Principal
C.P.C. College
Moga, Punjab

कुश्ती में बिलासपुर कॉलेज ने जीते चार पदक

(१७४)



बिलासपुर। हिमाचल प्रदेश विश्वविद्यालय शिमला की ओर से दो दिवसीय कुश्ती चैंपियनशिप गायत्री कॉलेज ऑफ एजुकेशन सुंदरनगर में 12 से 13 दिसंबर तक करवाई गई। चैंपियनशिप में राजकीय महाविद्यालय बिलासपुर के छात्रों ने शानदार प्रदर्शन कर चार पदक जीते। टीम इंचार्ज डॉ. राकेश कपूर ने बताया कि कार्तिक शर्मा ने 57 किलोग्राम भार वर्ग में स्वर्ण पदक जीता। वहीं, हरप्रीत सिंह ने 86 किलोग्राम, अर्पित ने 79 किलोग्राम और अभय ठाकुर ने 61 किलोग्राम भार वर्ग में रजत पदक जीते। पुरुष वर्ग में बिलासपुर महाविद्यालय ओवरआल तीसरे स्थान पर रहा। कॉलेज पहुंचने पर प्राचार्य डॉ. पीएस कटवाल ने पहलवान छात्रों का स्वागत किया। छात्रों को हार पहनाकर सम्मानित किया गया। इस मौके पर प्रो. प्रेमजीत, प्रो. रणजीत कौशल, डॉ. सुरेंद्र सिंह, डॉ. सुरजीत सिंह, डॉ. रितु शर्मा, प्रो. नवेंदु बंसल, डॉ. विजय कुमार आदि उपस्थित रहे। संवाद

अमृ उजाला १५.१२.२४



GOVERNMENT COLLEGE BILASPUR

District - Bilaspur, Himachal Pradesh, India, Pin - 174001

Phone 01978-222417, www.gcbilaspur.in, E-mail: gpgcbilaspur@gmail.com

(NAAC Accredited B Grade College)

Annexure- C-2(2.3.2)

%AGE OF STUDENTS PARTICIPATING IN CULTURAL ACTIVITIES

More than 20% students of the college participate in various cultural activities viz. inter college Group-I, II, III & IV, Intra College Talent hunt, CSCA functions, Annual Prize Distribution functions and cultural activities organized by various clubs. The detailed reports of these activities are available with the concerned college committees.

DETAIL OF STUDENTS PARTICIPATED IN HPU YOUTH FESTIVAL GROUP I,II,III & IV

GROUP-I II III & IV

SR. NO.	ACTIVITY	No. of students participated
1	HPU YOUTH FESTIVAL GROUP I	12
2	HPU YOUTH FESTIVAL GROUP II	12
3	HPU YOUTH FESTIVAL GROUP III	20
4	HPU YOUTH FESTIVAL GROUP IV	21
5	CSCA FUNCTION	391
6	TELENT HUNT PROGRAM BY DIVYA HIMACHAL	90
7	YOUTH FESTIVAL BY NEHRU YUVA KENDRA	120
8	DISTRICT LEVEL DANCE COMPITITION ORGANISED BY DLO BILASPUR	20
9	CULTURAL FUNCTION ANNUAL PRIZE DISTRIBUTION FUNCTION	40
	TOTAL	726

Proforma for Refreshment in respect of GPGC, Bilaspur (H.P.) During preparation.

Received Rs 50/- per day from Principal GC Bilaspur on account of daily allowance for participants of HPU YOUTH FESTIVAL GROUP-III in the month of October, 2024, held at GC Kalinga, W.C., 23rd Oct. to 26th Oct. 2024.

Line No.	Name of Student	Class/Roll No.	Rate of refreshments per day	No. of Days refreshments served	Total amount of Refreshments served	Signature of refreshment recipient
1	Riya Gautam	BSC 1st 2321404	50/-	10	500/-	Riya Gautam
2	Priya	BSC 1st 231707	50/-	10	500/-	Priya
3	Shivam Bhardwaj	BSC 1st 2318149	50/-	10	500/-	Shivam Bhardwaj
4	Reema Kumar	BSC 1st 2319392	50/-	10	500/-	Reema Kumar
5	Ketuldeep Kumar	BS 1st 2307633	50/-	10	500/-	Ketuldeep Kumar
6	Manisha Devi	BS 1st 2316929	50/-	10	500/-	Manisha Devi
7	Divya Sharma	BSC 1st 2316929	50/-	10	500/-	Divya Sharma
8	Manisha Kumar	BSC 1st 2316929	50/-	10	500/-	Manisha Kumar
9	Anuradha	BSC 1st 2316929	50/-	10	500/-	Anuradha
10	Archish Thakur	BSC 1st 2316929	50/-	10	500/-	Archish Thakur
11	Nithin Kumar	BSC 1st 2316929	50/-	10	500/-	Nithin Kumar
12	Abhishikta	BS 1st 2321403	50/-	10	500/-	Abhishikta
					Total	6000/-

Team Leader certified that 12 (Twelve) students have been served refreshments @ 50/- each for 10 (Ten) days w.e.f. 14-10-2024 to 26-10-2024 during preparation for HPU Youth Festival Group-III.

Sign of Team Leader: *[Signature]*

GOVT. COLLEGE BILASPUR H.P.

Received Rs 50/- per day from Principal GC Bilaspur on account of daily allowance for participants of HPU YOUTH FESTIVAL GROUP-III in the month of October, 2024, held at GC Kalinga, W.C., 23rd Oct. to 26th Oct. 2024.

Sr. No.	Name of Student	Class	Roll No.	No. of Days	AMOUNT	SIGNATURE OF STUDENT
1	ANITA KUMARI	BA 2 nd YEAR	23HIN080	06	150/-	<i>Anita</i>
2	MANISHA	BA 2 nd YEAR	23HIN081	06	150/-	<i>Manisha</i>
3	BEENU	BA 2 nd YEAR	23MUS003	06	150/-	<i>Beenu</i>
4	AKANKSHA	BA 2 nd YEAR	23MUS015	06	150/-	<i>Akanksha</i>
5	PRIYA	BA 2 nd YEAR	23MUS014	06	150/-	<i>Priya</i>
6	SAKSHI	BA 2 nd YEAR	23MUS007	06	150/-	<i>Sakshi</i>
7	ANU	BA 2 nd YEAR	24MUS005	06	150/-	<i>Anu</i>
8	POOJA	BA 2 nd YEAR	24HIS072	06	150/-	<i>Pooja</i>
9	NEERAJ	BA 2 nd YEAR	23MUS002	06	150/-	<i>Neeraj</i>
10	SAHIL	BA 2 nd YEAR	23HUS009	06	150/-	<i>Sahil</i>
11	DHARSHI	BA 2 nd YEAR	23HUS004	06	150/-	<i>Dharshi</i>
12	ABHISHEK BHARDWAJ	BA 2 nd YEAR	24ENG036	06	150/-	<i>Abhishek Bhardwaj</i>

It is certified that the daily allowance has been given to 12 (Twelve) participants of HPU YOUTH FESTIVAL GROUP-III as per the detail given in this chart. Hence the bill of Rs. 1800/- is passed for payment.

Team Leader: *[Signature]*

Sanctioned & Passed For Payment
to Rs. 1800/- Principal
at 10.10.2024

Govt. College Bilaspur

GOVT. COLLEGE BILASPUR H.P.

Received Rs 50/- per day from Principal GC Bilaspur on account of Refreshments for participants during practice session of HPU YOUTH FESTIVAL GROUP-III DANCE, 1 to 10 days held at GAUTAM COLLEGE HAMIRPUR DATED 14/10/2024 to 24/10/2024.

Sr. No.	Name of Participant	Class	Roll No.	Rate per day	No. of Days	AMOUNT	SIGNATURE OF STUDENT
1	ANITA KUMARI	BA 2 nd YEAR	23HIN080	10	10 days	500/-	<i>Anita</i>
2	BEENU	BA 2 nd YEAR	23HIN081	10	10 days	500/-	<i>Beenu</i>
3	MANISHA	BA 2 nd YEAR	23HIN082	10	10 days	500/-	<i>Manisha</i>
4	AKANKSHA	BA 2 nd YEAR	23HIN083	10	10 days	500/-	<i>Akanksha</i>
5	PRIYA	BA 2 nd YEAR	23HIN084	10	10 days	500/-	<i>Priya</i>
6	KANAKA	BA 2 nd YEAR	23HIN085	10	10 days	500/-	<i>Kanaka</i>
7	NEELAKSHI	BA 2 nd YEAR	23HIN086	10	10 days	500/-	<i>Neelakshi</i>
8	Dimple	BA 2 nd YEAR	23HIN087	10	10 days	500/-	<i>Dimple</i>
9	Aswath	BA 2 nd YEAR	23HIN088	10	10 days	500/-	<i>Aswath</i>
10	POOJA	BA 2 nd YEAR	23HIN089	10	10 days	500/-	<i>Pooja</i>
11	Tanya	BA 2 nd YEAR	23HIN090	10	10 days	500/-	<i>Tanya</i>
12	Nithika	BA 2 nd YEAR	23HIN091	10	10 days	500/-	<i>Nithika</i>
13	SAKSHI	BA 2 nd YEAR	23HIN092	10	10 days	500/-	<i>Sakshi</i>
14	ANU	BA 2 nd YEAR	23HIN093	10	10 days	500/-	<i>Anu</i>
15	POOJA	BA 2 nd YEAR	23HIN094	10	10 days	500/-	<i>Pooja</i>
16	NEERAJ	BA 2 nd YEAR	23HIN095	10	10 days	500/-	<i>Neeraj</i>
17	SAHIL	BA 2 nd YEAR	23HIN096	10	10 days	500/-	<i>Sahil</i>
18	DHARSHI	BA 2 nd YEAR	23HIN097	10	10 days	500/-	<i>Dharshi</i>
19	SUSHHEEL	BA 2 nd YEAR	23HIN098	10	10 days	500/-	<i>Sushheel</i>
20	SAURAV	BA 2 nd YEAR	23HIN099	10	10 days	500/-	<i>Saurav</i>
					TOTAL	10,000/-	<i>/</i>

It is certified that the refreshment has been given to 20 participants of HPU INTER COLLEGE YOUTH FESTIVAL GROUP-III (DANCE) as per the detail given in this chart. Hence the bill of Rs. 1000/- is passed for payment.

Team Leader: *[Signature]*

[Signature]

YOUTH FESTIVAL (GROUP 4) PARTICIPANTS LIST						
SR. NO.	NAME	FATHER'S NAME	MOTHER'S NAME	DOB	CLASS	ROLL NO.
1	Kumari	Uttam Singh	Shakuntla Devi	02/02/2006	BA 1st year	24ENG045
2	Anuradha	Uttam Singh	Shakuntla Devi	30/11/2002	M.A. Eng 1st Sem	24MENG010
3	Pooja Devi	Ramesh Chand	Sunita Devi	15/07/2002	MA Eng 3rd Sem	23MENG013
4	Kanikay Bakshi	Shailender Bakshi	Sushma Bakshi	17/04/2005	B.Sc. bi(h) 2nd year	23bscbt014
5	Shivani Sharma	Sanjay Pal	Ramkali Devi	16/1/2006	B.Com. 2nd year	23bscbt019
6	Kriti Jamwal	Pradeep Kumar	Kamlesh Kumar	02-05-2004	B.Sc. biotech 2nd year	23bscbt019/13
7	Ayush Tyagi	Pradeep Kumar	Santa Devi	21/05/2005	BA 3rd year	22HIS048
8	Karan Thakur	Shivchand Thakur	Surendra Devi	09/07/2005	BA 2nd year	23HIS053
9	Vivek Thakur	Brij Lal	Sanj Devi	20/08/2003	22MU005	22MU005
10	Jasvir Singh	Budhi Singh	Shakuntla Devi	11/09/2006	BA 2nd Year	23ENG032
11	Dhary Thakur	Sanjeev Kumar	Geeta Devi	26/12/2004	BA 3rd year	22MU004
12	Shivam Singh	Gurdial Singh	Raj Kumar	26/03/2005	BA 3rd year	22HIS070
13	Devanishi Chandel	Ashwani Chandel	Kavita Chandel	30-06-2005	B.Sc. biotech 2nd year	22bscbt0124
14	Rupal Thakur	Jagdev Singh	Pawana Kumar	15/12/2006	BA 2nd year	23TMM006
15	Gaurav Sharma	Vinod Kumar	Reeta Devi	02/11/2003	BCOM 2nd year	22Bcom021
16	Keshav Thakur	Chhota Ram	Asha Rani	06/06/2006	B.A. 2nd year	23GE049
17	Rahul Sharma	Amar Nath	Sharmila	11/11/2004	Bcom 3rd year	22bcom069
18	Aakriti Sharma	Shyam Lal	Anjana Devi	16/11/2005	BscBT(H)1st yr	24BscBT(H)015
19	Aarushi	Shalish	Swarnalata	01-12-2005	BA 3rd year	23GE036
20	Namita	Bal Mukund	Krishna Devi	26/01/2006	BA 2nd year	23DU005
21	Simran Thakur	Chaman Lal	Anjana	31/07/2006	BA 2nd Year	23Eco040

[Signature]

[Signature]

NEWS OF PRIZE WINNERS OF HPU YOUTH FESTIVAL IN NEWS PAPERS



STUDENTS PARTICIPATING IN CSCA FUNCTION UMANG – 2025

Govt. College Bilaspur (H.P.) Internal Quality Assurance Cell (IQAC)				
Attendance Sheet				
Name of Programme: CSCA Function Dated 21/02/2025				
Sl. No.	Name of student	Class	Class Roll No.	Signature
1	Anju Kumari	B.A.1st year	24HIN0646	Anju Kumari
2	Komal	B.A.2nd year	24HIN0640	Komal
3	Neeru	B.A.1st year	24HIN038	Neeru
4	Vanshika Bhatio	B.A.2nd year	23HIN042	Vanshika
5	Prachi Rathore	B.A.1st year	24HIN045	Prachi Rathore
6	Shivani Patel	B.A.1st year	24HIN048	Shivani Patel
7	Surya Sharma	B.A.1st year	24HIN008	Surya Sharma
8	Monika	B.A.2nd year	24HIN009	Monika
9	Swarnali Sharma	B.A.1st year	24HIN021	Swarnali Sharma
10	Sunita Devi	B.A.1st year	24HIN021	Sunita Devi
11	Aryati Patel	B.A.1st year	24HIN021	Aryati Patel
12	AYUSHI	B.A.1st year	24HIN055	AYUSHI
13	Moni	B.A.1st year	24HIN014	Moni
14	Sejal Verma	B.A.1st year	24HIN016	Sejal Verma
15	Shruti Dev	B.A.1st year	24HIN037	Shruti Dev
16	Sneha Kumar	B.A.1st year	24HIN013	Sneha Kumar
17	Tajima Devi	B.A.1st year	24HIN026	Tajima Devi
18	Wali	B.A.1st year	24HIN049	Wali
19	Manisha Devi	B.A.1st year	24HIN025	Manisha Devi
20	Pragya Devi	B.A.1st year	24HIN026	Pragya Devi
21	Tanvi Saini	B.A.1st year	24HIN055	Tanvi Saini
22	Neha Verma	B.A.1st year	24HIN004	Neha Verma
23	Pranika Thakur	B.A.1st year	24HIN026	Pranika Thakur
24	Disha Kumari	B.A.1st year	24HIN029	Disha Kumari
25	Shruti Devi	B.A.1st year	24HIN018	Shruti Devi
26	Priyanka	B.A.1st year	24HIN035	Priyanka
27	Purnima Thakur	B.A.1st year	24HIN038	Purnima Thakur
28	ABHILASH	B.A.1st year	24HIN057	ABHILASH
29	Bedi Raj	B.A.1st year	24HIN059	Bedi Raj
30	Bikash Kumar	B.A.1st year	24HIN002	Bikash Kumar
31	Bhushan Kumar	B.A.1st year	24HIN003	Bhushan Kumar
32	Snehan Verma	B.A.2nd year	23HIN004	Snehan Verma
33				
34				
35				
36				
37				
38				
39				
40				
41				

Govt. College Bilaspur (H.P.) Internal Quality Assurance Cell (IQAC)				
Attendance Sheet				
Name of Programme: CSCA Function Dated 21/02/2025				
Sl. No.	Name of student	Class	Class Roll No.	Signature
1	Shilpa Kumar	B.A.3rd year	23POL002	Shilpa Kumar
2	Brijendra	B.A.3rd year	23POL001	Brijendra
3	Manisha Kumar	B.A.3rd year	23POL006	Manisha Kumar
4	Sakshi Sharma	B.A.3rd year	23POL015	Sakshi Sharma
5	Supankhi Kumar	B.A.3rd year	23POL021	Supankhi Kumar
6	Palak	B.A.3rd year	23POL006	Palak
7	Priyal	B.A.3rd year	23POL030	Priyal
8	Neetu	B.A.3rd year	23POL035	Neetu
9	Shikha Mehta	B.A.3rd year	23POL034	Shikha Mehta
10	Paroma	B.A.3rd year	23POL033	Paroma
11	Kajal Devi	B.A.3rd year	23POL035	Kajal Devi
12	Kavita Kumar	B.A.3rd year	23POL044	Kavita Kumar
13	Atisha	B.A.3rd year	23POL045	Atisha
14	Diksha Shukla	B.A.3rd year	23POL046	Diksha Shukla
15	Tanvi	B.A.3rd year	23POL047	Tanvi
16	Tanvi Mehta	B.A.3rd year	23POL050	Tanvi Mehta
17	Archana Sharma	B.A.3rd year	23POL055	Archana Sharma
18	Natika Shukla	B.A.3rd year	23POL061	Natika Shukla
19	Divya Nadda	B.A.3rd year	23POL065	Divya Nadda
20	Archita Devi	B.A.3rd year	23POL068	Archita Devi
21	Neetu	B.A.3rd year	23POL073	Neetu
22	Neetu Mehta	B.A.3rd year	23POL074	Neetu Mehta
23	Neetu Mehta	B.A.3rd year	23POL075	Neetu Mehta
24	Neetu Mehta	B.A.3rd year	23POL076	Neetu Mehta
25	Neetu Mehta	B.A.3rd year	23POL077	Neetu Mehta
26	Neetu Mehta	B.A.3rd year	23POL078	Neetu Mehta
27	Neetu Mehta	B.A.3rd year	23POL079	Neetu Mehta
28	Neetu Mehta	B.A.3rd year	23POL080	Neetu Mehta
29	Neetu Mehta	B.A.3rd year	23POL081	Neetu Mehta
30	Neetu Mehta	B.A.3rd year	23POL082	Neetu Mehta
31	Neetu Mehta	B.A.3rd year	23POL083	Neetu Mehta
32	Neetu Mehta	B.A.3rd year	23POL084	Neetu Mehta
33	Neetu Mehta	B.A.3rd year	23POL085	Neetu Mehta
34	Neetu Mehta	B.A.3rd year	23POL086	Neetu Mehta
35	Neetu Mehta	B.A.3rd year	23POL087	Neetu Mehta
36	Neetu Mehta	B.A.3rd year	23POL088	Neetu Mehta
37	Neetu Mehta	B.A.3rd year	23POL089	Neetu Mehta
38	Neetu Mehta	B.A.3rd year	23POL090	Neetu Mehta
39	Neetu Mehta	B.A.3rd year	23POL091	Neetu Mehta
40	Neetu Mehta	B.A.3rd year	23POL092	Neetu Mehta
41	Neetu Mehta	B.A.3rd year	23POL093	Neetu Mehta

$$32+38 = 70$$

Govt. College Bilaspur (H.P.)
Internal Quality Assurance Cell (IQAC)

Attendance Sheet
Name of Programme: CSCA Function Dated 23/02/2025

Topic:

Sr. No.	Name of student	Class	Class Roll No.	Signature
1	SUTAL TEJKOR	BBA 2nd Sem	24 BBA 045	SUTAL TEJKOR
2	Mona	BBA 2nd Sem	24 BBA 044	Mona
3	NIKSHIT TAKKAR	BBA 2nd Sem	24 BBA 046	Nikshit
4	Rashmi Chaudhary	BBA 2nd Sem	24 BBA 047	Rashmi
5	Shrawan Chaudhary	BBA 2nd Sem	24 BBA 048	Shrawan
6	Abhay Chaudhary	BBA 2nd Sem	24 BBA 049	Abhay Chaudhary
7	Mohit Kulkarni	BBA 2nd Sem	24 BBA 050	Mohit Kulkarni
8	Ananya Pandit	BBA 2nd Sem	24 BBA 051	Ananya Pandit
9	Rahul	BBA 2nd Sem	24 BBA 052	Rahul
10	Shilpa	BBA 2nd Sem	24 BBA 053	Shilpa
11	Rahul	BBA 2nd Sem	24 BBA 054	Rahul
12	Archana	BBA 2nd Sem	24 BBA 055	Archana
13	Shalini	BBA 2nd Sem	24 BBA 056	Shalini
14	Neha	BBA 2nd Sem	24 BBA 057	Neha
15	Anvita	BBA 2nd Sem	24 BBA 058	Anvita
16	Rashmi Thakur	BBA 2nd Sem	24 BBA 059	Rashmi Thakur
17	Mousha	BBA 2nd Sem	24 BBA 060	Mousha
18	Avneesh Chaudhary	BBA 2nd Sem	24 BBA 061	Avneesh Chaudhary
19	Garubh Kumar	BBA 2nd Sem	24 BBA 062	Garubh Kumar
20	Amrit	BBA 2nd Sem	24 BBA 063	Amrit
21	Aayyan	BBA 2nd Sem	24 BBA 064	Aayyan

70 + 25 = 95

Govt. College Bilaspur (H.P.)
Internal Quality Assurance Cell (IQAC)

Attendance Sheet
Name of Programme: CSCA Function Dated 23/02/2025

Topic:

Sr. No.	Name of student	Class	Class Roll No.	Signature
1	Winita Thakur	BBA 2nd Sem	24 BBA 060	Winita
2	Alka Devi	BBA 2nd Sem	24 BBA 061	Alka Devi
3	Archita Devi	BBA 2nd Sem	24 BBA 062	Archita Devi
4	Palash Thakur	BBA 2nd Sem	24 BBA 063	Palash Thakur
5	Neelofa Thakur	BBA 2nd Sem	24 BBA 064	Neelofa Thakur
6	Shilpa Thakur	BBA 2nd Sem	24 BBA 065	Shilpa Thakur
7	Kusika Thakur	BBA 2nd Sem	24 BBA 066	Kusika Thakur
8	Shubham	BBA 2nd Sem	24 BBA 067	Shubham
9	Arvind Kumar	BBA 2nd Sem	24 BBA 068	Arvind Kumar
10	Reetika Goyal	BBA 2nd Sem	24 BBA 069	Reetika Goyal
11	Naveesh Kumar	BBA 2nd Sem	24 BBA 070	Naveesh Kumar
12	Koyal	BBA 2nd Sem	24 BBA 071	Koyal
13	Kushish	BBA 2nd Sem	24 BBA 072	Kushish
14	Arti	BBA 2nd Sem	24 BBA 073	Arti
15	Kamma	BBA 2nd Sem	24 BBA 074	Kamma
16	Tanu Thakur	BBA 2nd Sem	24 BBA 075	Tanu Thakur
17	Ruchi	BBA 2nd Sem	24 BBA 076	Ruchi
18	Shubham Thakur	BBA 2nd Sem	24 BBA 077	Shubham Thakur
19	Nikola Tiwari	BBA 2nd Sem	24 BBA 078	Nikola Tiwari
20	Tanima Sharma	BBA 2nd Sem	24 BBA 079	Tanima Sharma
21	Mukshan Sharma	BBA 2nd Sem	24 BBA 080	Mukshan Sharma
22	Kundan Sharma	BBA 2nd Sem	24 BBA 081	Kundan Sharma
23	Dinesh Sharma	BBA 2nd Sem	24 BBA 082	Dinesh Sharma
24	Pruthi Sharma	BBA 2nd Sem	24 BBA 083	Pruthi Sharma
25	Apurva Kumar	BBA 2nd Sem	24 BBA 084	Apurva Kumar
26	Nikita Sharma	BBA 2nd Sem	24 BBA 085	Nikita Sharma
27	Prinu	BBA 2nd Sem	24 BBA 086	Prinu
28	Sachit Kumar	BBA 2nd Sem	24 BBA 087	Sachit Kumar
29	Sapna Chaudhary	BBA 2nd Sem	24 BBA 088	Sapna Chaudhary
30	Uttam Thakur	BBA 2nd Sem	24 BBA 089	Uttam Thakur
31	Ekashya	BBA 2nd Sem	24 BBA 090	Ekashya
32	Aishwarya Kulkarni	BBA 2nd Sem	24 BBA 091	Aishwarya Kulkarni
33	Kashik	BBA 2nd Sem	24 BBA 092	Kashik
34	Abhishek Shukla	BBA 2nd Sem	24 BBA 093	Abhishek Shukla
35	Ramashivam	BBA 2nd Sem	24 BBA 094	Ramashivam
36	Shivam	BBA 2nd Sem	24 BBA 095	Shivam
37	Shivam	BBA 2nd Sem	24 BBA 096	Shivam
38	Gaurav Kumar	BBA 2nd Sem	24 BBA 097	Gaurav Kumar
39	Shubham Thakur	BBA 2nd Sem	24 BBA 098	Shubham Thakur
40	Krishna Thakur	BBA 2nd Sem	24 BBA 099	Krishna Thakur
41	Swarn Chaudhary	BBA 2nd Sem	24 BBA 100	Swarn Chaudhary

93 + 41 = 134

Govt. College Bilaspur (H.P.)
Internal Quality Assurance Cell (IQAC)

Attendance Sheet
Name of Programme: CSCA Function Dated 24/02/2025

Topic:

Sr. No.	Name of student	Class	Class Roll No.	Signature
1	Yashika	MSC 1st Sem	21 MSC MATHS 01	Yashika
2	Bandana	MSC 1st Sem	21 MSC MATHS 02	Bandana
3	Komal Sharma	MSC 1st Sem	21 MSC MATHS 03	Komal
4	Akanksha	MSC 1st Sem	21 MSC MATHS 04	Akanksha
5	Anjali Kumar	MSC 1st Sem	21 MSC MATHS 05	Anjali Kumar
6	Aswani Sharmo	MSC 1st Sem	21 MSC MATHS 06	Aswani Sharmo
7	Garubh Kumar	MSC 1st Sem	21 MSC MATHS 07	Garubh Kumar
8	Divyanshu	MSC 1st Sem	21 MSC MATHS 08	Divyanshu
9	Sunita Dikshen	MSC 1st Sem	21 MSC MATHS 09	Sunita Dikshen
10	Kuldeep	MSC 1st Sem	21 MSC MATHS 10	Kuldeep
11	Kuldeep	MSC 1st Sem	21 MSC MATHS 11	Kuldeep
12	Mukesh Kumar	MSC 1st Sem	21 MSC MATHS 12	Mukesh Kumar
13	Mukesh Kumar	MSC 1st Sem	21 MSC MATHS 13	Mukesh Kumar
14	Mukesh Kumar	MSC 1st Sem	21 MSC MATHS 14	Mukesh Kumar
15	Yashika	MSC 1st Sem	21 MSC MATHS 15	Yashika
16	Yashika	MSC 1st Sem	21 MSC MATHS 16	Yashika
17	Yashika	MSC 1st Sem	21 MSC MATHS 17	Yashika
18	Yashika	MSC 1st Sem	21 MSC MATHS 18	Yashika
19	Yashika	MSC 1st Sem	21 MSC MATHS 19	Yashika
20	Yashika	MSC 1st Sem	21 MSC MATHS 20	Yashika
21	Yashika	MSC 1st Sem	21 MSC MATHS 21	Yashika
22	Yashika	MSC 1st Sem	21 MSC MATHS 22	Yashika
23	Yashika	MSC 1st Sem	21 MSC MATHS 23	Yashika
24	Yashika	MSC 1st Sem	21 MSC MATHS 24	Yashika
25	Yashika	MSC 1st Sem	21 MSC MATHS 25	Yashika
26	Yashika	MSC 1st Sem	21 MSC MATHS 26	Yashika
27	Yashika	MSC 1st Sem	21 MSC MATHS 27	Yashika
28	Yashika	MSC 1st Sem	21 MSC MATHS 28	Yashika
29	Yashika	MSC 1st Sem	21 MSC MATHS 29	Yashika
30	Yashika	MSC 1st Sem	21 MSC MATHS 30	Yashika
31	Yashika	MSC 1st Sem	21 MSC MATHS 31	Yashika
32	Yashika	MSC 1st Sem	21 MSC MATHS 32	Yashika
33	Yashika	MSC 1st Sem	21 MSC MATHS 33	Yashika
34	Yashika	MSC 1st Sem	21 MSC MATHS 34	Yashika
35	Yashika	MSC 1st Sem	21 MSC MATHS 35	Yashika
36	Yashika	MSC 1st Sem	21 MSC MATHS 36	Yashika
37	Yashika	MSC 1st Sem	21 MSC MATHS 37	Yashika
38	Yashika	MSC 1st Sem	21 MSC MATHS 38	Yashika
39	Yashika	MSC 1st Sem	21 MSC MATHS 39	Yashika
40	Yashika	MSC 1st Sem	21 MSC MATHS 40	Yashika

134 + 41 = 175

Govt. College Bilaspur (H.P.)
Internal Quality Assurance Cell (IQAC)

Attendance Sheet
Name of Programme: CSCA Function Dated 24/02/2025

Topic:

Sr. No.	Name of student	Class	Class Roll No.	Signature
1	Kiran Sharma	MSC 1st Sem	21 MSC MATHS 01	Kiran Sharma
2	Yashika	MSC 1st Sem	21 MSC MATHS 02	Yashika
3	Yashika	MSC 1st Sem	21 MSC MATHS 03	Yashika
4	Yashika	MSC 1st Sem	21 MSC MATHS 04	Yashika
5	Yashika	MSC 1st Sem	21 MSC MATHS 05	Yashika
6	Yashika	MSC 1st Sem	21 MSC MATHS 06	Yashika
7	Yashika	MSC 1st Sem	21 MSC MATHS 07	Yashika
8	Yashika	MSC 1st Sem	21 MSC MATHS 08	Yashika
9	Yashika	MSC 1st Sem	21 MSC MATHS 09	Yashika
10	Yashika	MSC 1st Sem	21 MSC MATHS 10	Yashika
11	Yashika	MSC 1st Sem	21 MSC MATHS 11	Yashika
12	Yashika	MSC 1st Sem	21 MSC MATHS 12	Yashika
13	Yashika	MSC 1st Sem	21 MSC MATHS 13	Yashika
14	Yashika	MSC 1st Sem	21 MSC MATHS 14	Yashika
15	Yashika	MSC 1st Sem	21 MSC MATHS 15	Yashika
16	Yashika	MSC 1st Sem	21 MSC MATHS 16	Yashika
17	Yashika	MSC 1st Sem	21 MSC MATHS 17	Yashika
18	Yashika	MSC 1st Sem	21 MSC MATHS 18	Yashika
19	Yashika	MSC 1st Sem	21 MSC MATHS 19	Yashika
20	Yashika	MSC 1st Sem	21 MSC MATHS 20	Yashika
21	Yashika	MSC 1st Sem	21 MSC MATHS 21	Yashika
22	Yashika	MSC 1st Sem	21 MSC MATHS 22	Yashika
23	Yashika	MSC 1st Sem	21 MSC MATHS 23	Yashika
24	Yashika	MSC 1st Sem	21 MSC MATHS 24	Yashika
25	Yashika	MSC 1st Sem	21 MSC MATHS 25	Yashika
26	Yashika	MSC 1st Sem	21 MSC MATHS 26	Yashika
27	Yashika	MSC 1st Sem	21 MSC MATHS 27	Yashika
28	Yashika	MSC 1st Sem	21 MSC MATHS 28	Yashika
29	Yashika	MSC 1st Sem	21 MSC MATHS 29	Yashika
30	Yashika	MSC 1st Sem	21 MSC MATHS 30	Yashika
31	Yashika	MSC 1st Sem	21 MSC MATHS 31	Yashika
32	Yashika	MSC 1st Sem	21 MSC MATHS 32	Yashika
33	Yashika	MSC 1st Sem	21 MSC MATHS 33	Yashika
34	Yashika	MSC 1st Sem	21 MSC MATHS 34	Yashika
35	Yashika	MSC 1st Sem	21 MSC MATHS 35	Yashika
36	Yashika	MSC 1st Sem	21 MSC MATHS 36	Yashika
37	Yashika	MSC 1st Sem	21 MSC MATHS 37	Yashika
38	Yashika	MSC 1st Sem	21 MSC MATHS 38	Yashika
39	Yashika	MSC 1st Sem	21 MSC MATHS 39	Yashika
40	Yashika	MSC 1st Sem	21 MSC MATHS 40	Yashika

175 + 8 = 183

Govt. College Bilaspur (H.P.)
Internal Quality Assurance Cell (IQAC)

Attendance Sheet
Topic: CSCA Function Dated 29/02/25

Sr. No.	Name of student	Class	Class Roll No	Signature
1	Gurjeet	2nd B.Com 005		
2	Arpita Choudhary	2nd B.Com 020		
3	Chanchal	2nd B.Com 012		
4	Arti Bawali	2nd B.Com 001		
5	Sumita	2nd B.Com 056		
6	Geeta Choudhary	2nd B.Com 086		
7	Mounika Verma	2nd B.Com 070		
8	Sukhpreet	2nd B.Com 028		
9	Shivani Sharma	2nd B.Com 030		
10	Shruti Choudhary	2nd B.Com 019		
11	Prerna Khatkar	2nd B.Com 002		
12	Kavita Verma	2nd B.Com 034		
13	Shivani Verma	2nd B.Com 045		
14	Shanti Devi	2nd B.Com 000		
15	Jyoti	2nd B.Com 079		
16	Rekha Choudhary	2nd B.Com 051		
17	Shilpi Verma	2nd B.Com 051		
18	Shilpi Verma	2nd B.Com 051		
19	Shilpi Verma	2nd B.Com 051		
20	Shilpi Verma	2nd B.Com 051		
21	Shilpi Verma	2nd B.Com 051		
22	Shilpi Verma	2nd B.Com 051		
23	Shilpi Verma	2nd B.Com 051		
24	Shilpi Verma	2nd B.Com 051		
25	Shilpi Verma	2nd B.Com 051		
26	Shilpi Verma	2nd B.Com 051		
27	Shilpi Verma	2nd B.Com 051		
28	Shilpi Verma	2nd B.Com 051		
29	Shilpi Verma	2nd B.Com 051		
30	Shilpi Verma	2nd B.Com 051		
31	Shilpi Verma	2nd B.Com 051		
32	Shilpi Verma	2nd B.Com 051		
33	Shilpi Verma	2nd B.Com 051		
34	Shilpi Verma	2nd B.Com 051		
35	Shilpi Verma	2nd B.Com 051		
36	Shilpi Verma	2nd B.Com 051		
37	Shilpi Verma	2nd B.Com 051		
38	Shilpi Verma	2nd B.Com 051		
39	Shilpi Verma	2nd B.Com 051		
40	Shilpi Verma	2nd B.Com 051		
41	Shilpi Verma	2nd B.Com 051		

229 + 39 = 268

Govt. College Bilaspur (H.P.)
Internal Quality Assurance Cell (IQAC)

Attendance Sheet
Topic: CSCA Function Dated 29/02/25

Sr. No.	Name of student	Class	Class Roll No	Signature
1	Praveen Thakur	2nd B.Com 022		
2	Abhishek Singh	2nd B.Com 033		
3	Abhishek Singh	2nd B.Com 040		
4	Saman Panigrahi	2nd B.Com 041		
5	Jyoti Panigrahi	2nd B.Com 045		
6	Arvind Kumar	2nd B.Com 047		
7	Nishant Chauhan	2nd B.Com 055		
8	Umesh Singh	2nd B.Com 059		
9	Umesh Singh	2nd B.Com 064		
10	Himanshu Thakur	2nd B.Com 074		
11	Prakash Verma	2nd B.Com 074		
12	Prakash Verma	2nd B.Com 074		
13	Prakash Verma	2nd B.Com 074		
14	Prakash Verma	2nd B.Com 074		
15	Prakash Verma	2nd B.Com 074		
16	Prakash Verma	2nd B.Com 074		
17	Prakash Verma	2nd B.Com 074		
18	Prakash Verma	2nd B.Com 074		
19	Prakash Verma	2nd B.Com 074		
20	Prakash Verma	2nd B.Com 074		
21	Prakash Verma	2nd B.Com 074		
22	Prakash Verma	2nd B.Com 074		
23	Prakash Verma	2nd B.Com 074		
24	Prakash Verma	2nd B.Com 074		
25	Prakash Verma	2nd B.Com 074		
26	Prakash Verma	2nd B.Com 074		
27	Prakash Verma	2nd B.Com 074		
28	Prakash Verma	2nd B.Com 074		
29	Prakash Verma	2nd B.Com 074		
30	Prakash Verma	2nd B.Com 074		
31	Prakash Verma	2nd B.Com 074		
32	Prakash Verma	2nd B.Com 074		
33	Prakash Verma	2nd B.Com 074		
34	Prakash Verma	2nd B.Com 074		
35	Prakash Verma	2nd B.Com 074		
36	Prakash Verma	2nd B.Com 074		
37	Prakash Verma	2nd B.Com 074		
38	Prakash Verma	2nd B.Com 074		
39	Prakash Verma	2nd B.Com 074		
40	Prakash Verma	2nd B.Com 074		
41	Prakash Verma	2nd B.Com 074		

268 + 1 = 269

Govt. College Bilaspur (H.P.)
Internal Quality Assurance Cell (IQAC)

Attendance Sheet
Topic: CSCA Function Dated 29/02/25

Sr. No.	Name of student	Class	Class Roll No	Signature
1	Minali Khatkar	2nd B.Com 011		
2	Priyanka	2nd B.Com 016		
3	Priyanka Verma	2nd B.Com 020		
4	Komal Verma	2nd B.Com 026		
5	Rekha	2nd B.Com 029		
6	Rekha	2nd B.Com 032		
7	Rekha	2nd B.Com 035		
8	Rekha	2nd B.Com 038		
9	Rekha	2nd B.Com 041		
10	Rekha	2nd B.Com 044		
11	Rekha	2nd B.Com 047		
12	Rekha	2nd B.Com 050		
13	Rekha	2nd B.Com 053		
14	Rekha	2nd B.Com 056		
15	Rekha	2nd B.Com 059		
16	Rekha	2nd B.Com 062		
17	Rekha	2nd B.Com 065		
18	Rekha	2nd B.Com 068		
19	Rekha	2nd B.Com 071		
20	Rekha	2nd B.Com 074		
21	Rekha	2nd B.Com 077		
22	Rekha	2nd B.Com 080		
23	Rekha	2nd B.Com 083		
24	Rekha	2nd B.Com 086		
25	Rekha	2nd B.Com 089		
26	Rekha	2nd B.Com 092		
27	Rekha	2nd B.Com 095		
28	Rekha	2nd B.Com 098		
29	Rekha	2nd B.Com 101		
30	Rekha	2nd B.Com 104		
31	Rekha	2nd B.Com 107		
32	Rekha	2nd B.Com 110		
33	Rekha	2nd B.Com 113		
34	Rekha	2nd B.Com 116		
35	Rekha	2nd B.Com 119		
36	Rekha	2nd B.Com 122		
37	Rekha	2nd B.Com 125		
38	Rekha	2nd B.Com 128		
39	Rekha	2nd B.Com 131		
40	Rekha	2nd B.Com 134		
41	Rekha	2nd B.Com 137		

309 + 41 = 350

Govt. College Bilaspur (H.P.)
Internal Quality Assurance Cell (IQAC)

Attendance Sheet
Topic: CSCA Function Dated 29/02/25

Sr. No.	Name of student	Class	Class Roll No	Signature
1	Kusakshi	2nd B.Com 014		
2	Elitha	2nd B.Com 023		
3	Divyanshi	2nd B.Com 029		
4	Sachchit Thakur	2nd B.Com 035		
5	Tejashwi Sharmi	2nd B.Com 041		
6	Kritika Kumari	2nd B.Com 041		
7	Bhumi	2nd B.Com 043		
8	Anurita Sharma	2nd B.Com 045		
9	Bhumi	2nd B.Com 045		
10	Pratiksha	2nd B.Com 045		
11	Kiran Sharma	2nd B.Com 048		
12	Harminder Kaur	2nd B.Com 052		
13	Sejal Sharma	2nd B.Com 052		
14	Kritika Kumari	2nd B.Com 053		
15	Sam	2nd B.Com 054		
16	Rekha	2nd B.Com 057		
17	Rekha	2nd B.Com 058		
18	Rekha	2nd B.Com 061		
19	Rekha	2nd B.Com 064		
20	Rekha	2nd B.Com 067		
21	Rekha	2nd B.Com 070		
22	Rekha	2nd B.Com 073		
23	Rekha	2nd B.Com 076		
24	Rekha	2nd B.Com 079		
25	Rekha	2nd B.Com 082		
26	Rekha	2nd B.Com 085		
27	Rekha	2nd B.Com 088		
28	Rekha	2nd B.Com 091		
29	Rekha	2nd B.Com 094		
30	Rekha	2nd B.Com 097		
31	Rekha	2nd B.Com 100		
32	Rekha	2nd B.Com 103		
33	Rekha	2nd B.Com 106		
34	Rekha	2nd B.Com 109		
35	Rekha	2nd B.Com 112		
36	Rekha	2nd B.Com 115		
37	Rekha	2nd B.Com 118		
38	Rekha	2nd B.Com 121		
39	Rekha	2nd B.Com 124		
40	Rekha	2nd B.Com 127		
41	Rekha	2nd B.Com 130		

350 + 41 = 391

1) Kusakshi 2) Elitha 3) Tejashwi
4) Rekha Sharma 5) Divyanshi
6) Bhumi
7) Anurita
8) Bhumi
9) Pratiksha
10) Kiran Sharma
11) Harminder Kaur
12) Sejal Sharma
13) Kritika Kumari
14) Sam
15) Rekha
16) Rekha
17) Rekha
18) Rekha
19) Rekha
20) Rekha
21) Rekha
22) Rekha
23) Rekha
24) Rekha
25) Rekha
26) Rekha
27) Rekha
28) Rekha
29) Rekha
30) Rekha
31) Rekha
32) Rekha
33) Rekha
34) Rekha
35) Rekha
36) Rekha
37) Rekha
38) Rekha
39) Rekha
40) Rekha
41) Rekha

NEWS OF CSCA FUNCTION IN NEWS PAPERS

NEWS OF TELENT HUNT PROGRAM ORGANIZED BY DIVY HIMACHAL NEWS PAPER MORE THEN 90 STUDENTS OF THE COLLEGE PARTICIPATED IN THIS COMPITITION AND 13 WERE SELECTED FOR SEMI FINAL.

DISTRICT LEVEL FOLK DANCE COMPITITION ORGANISED BY DLO BILASPUR IN VILLAGE DEOTH DISTT. BILASPUR OUR TEAM SNACHED 1ST POSITION AND SELECTED FOR STATE LEVEL DANCE COMPITITION WHICH WILL BE HELD IN THE MONTH OF DECEMBER 2026 IN SHIMLA IN WINTER CARNIVAL 2026.

जिला स्तरीय लोक नृत्य प्रतियोगिता में बिलासपुर महाविद्यालय प्रथम

लक्ष्मी गुप्त ने किया दूसरा
स्थान प्राप्त
तीसरे स्थान पर रहा हिम
कला संगम

संवेदा न्यूज / अरुण डोमारा
रीतू

बिलासपुर, 18 नवंबर : भाषा-संस्कृति विभाग बिलासपुर द्वारा जिला स्तरीय लोक नृत्य प्रतियोगिता का आयोजन बिलासपुर जिले के द्वारा स्थान पर किया गया। इस आयोजन में जिले भर के अठ सांस्कृतिक दलों ने भाग लिया। प्रतियोगिता में राजकीय महाविद्यालय बिलासपुर के कलाकारों ने प्रथम स्थान प्राप्त किया जबकि दूसरा स्थान महालक्ष्मी सांस्कृतिक दल को



प्रथम स्थान प्राप्त करने वाले राजकीय महाविद्यालय बिलासपुर की टीम मुख्यातिथि के साथ।

मिला, तीसरे स्थान पर हिम कला संगम का ही चयन किया गया था जो कि बिलासपुर रहा। भाषा एवं संस्कृति लोक नृत्य शैली में प्रस्तुत किए गए। विभाग द्वारा वह प्रतियोगिता हर वर्ष उन्होंने बताया कि जिला स्तरीय करवाइ जाती है। यह प्रतियोगिता प्रतियोगिता में प्रथम स्थान पर रहने बिलासपुर जिले की संस्कृति का वाले दल को राज्य स्तरीय प्रतियोगिता संवर्धन करने के लिए आयोजित की गई थी और इसमें पूर्ण रूप से इसके अलावा अन्य बेहतर परफॉर्मेंस बिलासपुर के रीति रिवाज और अन्य सांस्कृतिक परंपराओं से उत्पन्न गीतों वाले दलों को प्रदेश भर में होने वाले राज्य स्तरीय मेलों और अन्य उत्सवों

में भाग लेने के लिए भेजा जाता है। इस प्रतियोगिता में निर्णयिक मंडल में प्रख्यात अंतर्राष्ट्रीय नृत्यांगना फूला चंदेल, लोक कलाकार राम लाल पाठक तथा वरिष्ठ पत्रकार अरुण डोगरा रीतू शामिल रहे। तीनों स्थान प्राप्त करने वाले विजेताओं को ट्रॉफी देकर सम्मानित किया गया। जिला भाषा अधिकारी ने बताया कि इस कार्यक्रम में भ्राम पंचात दयोध के प्रधान राजेंद्र शर्मा तथा हिम कला संगम के प्रधान सतपाल शर्मा का काफी योगदान रहा। उन्होंने विभाग कि ओर से उनका भी आधार प्रकट किया। इस अवसर पर सेवानिवृत्त एक्शन मानसिंह रुद्धकी तथा क्यार कनेता पंचायत के प्रधान रघु राम भी उपस्थित रहे।

NEHRU YUVA KENDRA YOUTH FESTIVAL: THIS COMPITITION WAS ORGANIZED BY NYK BILASPUR IN THIS INSTITUTION IN SCIENCE FAIR, MOBILE PHOTOGRAPHY, PAINTING POETRY, DECLAMATION DANCE COMPITITION CATOGRIES. OUR STUDENTS ACHIEVE REMARKABLE POSITIONS IN EVERY COMPITITION.

कविता प्रतियोगिता में आशा कुमारी फर्स्ट

नेहरू युवा केंद्र बिलासपुर ने किया जिला स्तरीय युवा उत्सव का आयोजन

निजी संगवदाता - चांदपुर



युवा कार्यक्रम एवं खेल मंत्रालय धरार संस्कार, नेहरू युवा केंद्र बिलासपुर द्वारा सोमवार को जिला स्तरीय युवा उत्सव में आयोजन करवाया गया। इस उत्सव में साइंस मेल, चिकित्सा प्रतियोगिता, कविता प्रतियोगिता, मोबाइल कॉटोट्राफी, भाषण प्रतियोगिता तथा सांस्कृतिक कार्यक्रम का आयोजन करवाया गया। जिसमें जिला के विभिन्न शिक्षण संस्थानों से 18 संस्थानों के लाभाग 300 विद्यार्थियों ने भाग लिया।

इस अवसर पर पर युवाओं ने में अमित भारद्वाज प्रथम, वंश विश्व विजेता प्रतियोगिताओं में भाग डोगरा द्वितीय तथा अंश मिश्र लिया। कविता प्रतियोगिता में तृतीय स्थान पर रहे। भाषण आशा कुमारी प्रथम, अंशिका शर्मा प्रतियोगिता में सुनाशी, रजनीश के प्राचार्य डापोरेखा शर्मा तृतीय कॉइंडल व आयुष क्रमसः प्रथम, स्थान पर रही। मोबाइल कॉटोट्राफी द्वितीय व तृतीय स्थान पर रहे।

चिकित्सा प्रतियोगिता में अलू शर्मा प्रथम, मीनाक्षी देवी द्वितीय व मली देवी तृतीय स्थान प्राप्त किया। सांस्कृतिक प्रतियोगिता में राजकीय स्नातकोत्तर महाविद्यालय बिलासपुर प्रथम, मां वेणु मांस्कृतिक कला मंच द्वितीय व डाईड जुखाल तृतीय स्थान पर रहे। साइंस मेल एकल प्रतियोगिता में निजा देवी, जिला शिक्षा एवं प्रशिक्षण संस्थान (डाईट) जुखाल प्रथम, साइंस द्वितीय प्रतियोगिता में अंजली एवं शिवानी, राजकीय स्नातकोत्तर महाविद्यालय बिलासपुर द्वितीय व शतान शर्मा एवं विनय ठाकुर जिला शिक्षा एवं प्रशिक्षण संस्थान (डाईट) जुखाल तृतीय स्थान पर रहे।

NEWS OF ANNUAL PRIZE DISTRIBUTION FUNCTION 2024-25 IN NEWS PAPERS

